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1. A4
© sudo raspi-config A4

— AAZANA 12C B 55 9 F “YES” AlH
© sudo vi /etc/modules

— 12c-bcm2708 & ofel| i2c-dev JE = A%

2. ¥9 RAd =S HA
O sudo apt-get install i2c-tools &
O sudo apt-get install python-smbus ¢ =

3. Aol 2 FH&E A9 ehzelvto] A
© VCC, GDN, SDA(H¢lEl& Fidte= 9, SCL(E7]8HE #13 Clock 9 A4



4. AAEH2=E
© sudo i2cdetect -y O(ZF=H g ato] WA 2 wgh
© sudo i2cdetect -y 1(ZF=Hglato] Wz 2 o]/)
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5.

srFE QY

© sudo vi mpu6050_testl.py

#-*-coding:utf-8 -*-  #python3 WA o]sl= 3= A2lo] ¢ H 7| W&
import smbus

import math

import time

import urllib.request

A &9 HA2=H
power_mgmt_1=0x6b
power_mgmt_2=0x6¢

step_flag=0 ~ #B&& k=
sum_step=0 # A5 F(EA 2
A o]ZoA FHS$E

def read_byte(adn):
return bus.read_bytedata(address,adr)

def insertCloud(data):
api_key=" UGV6IKHB2C3WDIDT®  #write API Key
url=" https://api.thingspeak.com/update’
url=url+’ ?api_key=%s’ % api_key
url=url+’ &field1=%s’ % data

urllib.request.urlopen(url)

def read_word(adr):
high=bus.read_byte_data(address, adr)
low=bus.read_byte_data(address, adr+1)
val=(high<<8)+low
return val

def read_word_2c(adr):
val=read_word(adr)

if(val>=0x8000):
return -((65535 - val) +1)

else:
return val




def dist(a,b):
return math.sqrt((a*a)+(b*b))

def get_y_rotation(x,y,2):
radians=math.atan2(x, dist(y,z))
return -math.degrees(radians)

def get_x_rotation(x,y,z,):
radians=math.atan2(x, dist(y,z))
return -math.degrees(radians)

bus=smbus.SMBus(1)
address=0x68

bus.write_byte_data(address, power_mgmt_1, 0)

try:
while True:
time.sleep(1)
DI e
print “ => X, Y, Z Aol & AA Holg*
print “-----------—- “

gyro_xout=read_word_2c(0x43)
gyro_yout=read_word_2c(0x45)
gyro_zout=read_word_2c(0x47)

print “gyro_xout: “ , gyro_xout, “ scaled: “,(gyro_xout/131)
print “gyro_yout: “ , gyro_yout, “ scaled: “,(gyro_yout/131)
print “gyro_zout: “ , gyro_zout, “ scaled: “(gyro_zout/131)

print
print “=>7}< ©lo]E*

accel_xout=read_word_2c(0x3b)
accel_yout=read_word_2c(0x3d)
accel_zout=read_word_2c(0x3f)

accel_xout_scaled=accel_xout / 16384.0
accel_yout_scaled=accel_yout / 16384.0
accel_zout_scaled=accel_zout / 16384.0




print “accel_xout: “, accel_xout, “ scaled: “ , accel_xout_scaled
print “accel_yout: “, accel_xout, “ scaled: “ , accel_yout_scaled

“

print “accel_zout: “, accel_xout, “ scaled: “ , accel_zout_scaled

“

print “x rotation: “ , get_x_rotation(accel_xout_scaled, accel_yout_scaled,

accel_zout_scaled)

“

print “y rotation: “ , get_y_rotation(accel_xout_scaled, accel_yout_scaled,

accel_zout_scaled)

if accel_xout>0 and step_flag==0:
step_flag=1

elif accel_xout <0 and step_flag ==1:
step_flag=0
sum_step=sum_step +1

print(step_flag)
print ‘U 2& & :

“

, sum_step
insertCloud(10)

except KeyboardInterrupt:
GPIO.cleanup(

6. 3}

© python mpu6060_testl.py

s 24>
1. https://m.blog.naver.com/dlwjddns5/220725348476
2. https://blog.naver.com/3246902/221965791915




